
146 Solutions to homework assigned 12-3-19 

4.2 # 87a. Semiannually means 2 times per year, so you are evaluating: 
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88a. Quarterly means 4 times per year, so evaluate: 
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Note that the time is given in quarters not in years, so you don’t multiply by 4 in the exponent. 

4.3 # 1a. 2log (16) 4  because 42 16   

b. 3log (1) 0  because 03 1   

c. 10 10
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13. 5
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x     so 4x     

17. 8
4log 8x   means 1/448 8 8x    so 1/ 4x    

19. 3log 83x    means 3 3log log 8x   so 8x     Also, 3x  and 3log x  are inverse functions, so 3log 83 8   

21. 2log 92x   means 2 2log log 9x   so 9x   Also 2x  and 2log x  are inverse functions, so 2log 92 9  

25. 4log 3x   means 34 x  so 34 64x     

27. 3
4log 16x   means  33

1/32 2 2/34 16 4 4 4x       so 2 / 3x    

29. 9
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x    means 5/29 x  so   555/2 1/2 59 9 9 3 243x        

 


